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What did he do — avp KRR

Overview

The X713 seeks examples of 121 P11 NXpPna *nwda. In the proposed example
of mM»*ana 727n the Xn3 asks® if the fire would have traveled to his neighbor
without his additional wood, then 7°2¥ >X»; what did he do! M interprets
this to mean, since 72¥p °X» (in the case of the ox; it could have been
watched without him); therefore he should be completely 75, Our n1vOIN
initially rejects this interpretation, and later modifies it.

— P90 TR 99 BYYW 259NN 29V Ta¥P INI MY TN PHNRY NY9a
It is necessary to say concerning this entire discussion® that the expression
7avp 8% means ‘what did he do more that the others’ and therefore
(since he did not do more than the others) each one should pay his share.

mooIN anticipates an objection and refutes it:
— (X3 1mpY) NI9N PID NIINT Y097 91217 PN)

And we cannot say that the meaning of 7°2vp "Xn is that (since he did not do
anything [for the fire would have traveled anyways] therefore) he should be
exempt from payment; we cannot say that for we learnt in a Xn>93 in P92

9977 that if -
— DYUHYY MIUNY NN K2 DIUYY MIWN NN XY /99 N3 PPIND NN

One person dug out a pit to a depth of ten 2°15v0 and another came and
completed it to a depth of twenty “omov, and another came and
completed it to a depth of thirty o°mov. Subsequently an animal fell into this 112
and died, the rule is that -

— N5 NN NN INDAT 2) DY 9N 129N B9
They are all obligated to pay, even though that without him (referring to
the second and third person) the animal would have died, nevertheless (since
he dug ten 0°19v which can cause death by itself); he is considered to have contributed
equally with the first digger to the death of this animal. Similarly here too even though
the fire would have traveled without him (just as the pit would have killed without him),
nevertheless since he contributed equally with the initiator (just as the second two diggers

' See following footnote # 2. It would therefore seem that this Mo precedes the 1130 7" Moo,

* The X3 asks the same question concerning 131 1 7o» and 21 12w°w 7. This MooIN is apparently
discussing all three cases. (It seems from the end of m»0oin that this 7"7 is referencing the case of 72
m>°n3 in particular.)

3 29p *Xn 7"72. This >"w1 is concerning 1w 7on; however since *"wA offers no other interpretation on the
following 7°2yp X1, we may assume that they also mean that he should not be 2>°11.

* The expression 'avp *X»' is used regarding the question of X7 ' concerning 121 1 10, the question of
nww 21 concerning M?°212 7271, and the question of k99 ' concerning 191 12w°w 7.

> The second (and third person each) dug an additional ten onou.
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contributed equally with the first); he is equally liable as they are (just as in the case of
the pit).

moon modifies slightly what he previously said:
— 29NN NVITHY YN TINA Y WIN TPOVYNY DAY %) PIPTY 7298 N1 N

However it is necessary to be precise in this analogy and distinguish
between various cases; would we say for instance that if a person threw a
piece of wood into a large fire (where this wood alone would not be
capable of traveling and doing damage), and the fire did damage, would the

(last) thrower (also) be liable?! -
N9 1199591 9NN NIY 72 912 99INY THNRY NIN 1T NI NN

This aforementioned case of the fire cannot be compared to the case of X
51 '5% mhwm anx, but rather it should be compared to a case where one

dug a pit of ten 0°115v and another completed it to eleven o°rov. In such a
case the last person would be "v», since the killing was done by the first person who dug
ten 0°19v. The additional 19v of the second person accomplished nothing. Similarly in the
case of the fire, the last person who added some wood to the fire did not enhance the
power of the fire to do damage. He should be mws. It is only in the case of "1 '2% o owm,
that all three are 2>°11, since they each dug ten 2°190; each of their actions separately can
cause an animal to die. However by the aforementioned case of fire it is comparable to
K™% W,

The actual case of Mm%°an2 727n, however is discussing where the fire made by the 727
m2n3a can also cause damage on its own (as much as the original fire). This case
therefore is similar to '57 ¥°>wn and they would both be 2.

It would now seem that in the case of the bench, where even without the last person, the
bench would have been broken by the original five, and the last person by himself could
not break it; this should be more similar to the case of X"? 15w than to the case of
'35 7w and the last one should be 1ms.°

Summary
Three people who dug ten 219w to complete a M2 of thirty omov are all

equally liable for the death of an animal that fell into this pit. If one dug ten

% It appears that the case of the bench is similar and different both from '29 ¥%wm and from X" y5>wm. In
one sense it is similar to the case of '5% 2w since all the participants did the same amount of damage;
they dug the same amount in the pit, and they sat equally together on the bench. However it is different
from '5% ¥5wm for there each individual could by his own action cause the entire damage (they each dug
ten 0 11HY); however by the bench none of them individually can cause the bench to break. Conversely it is
similar to R"% ¥°%w for when the last person sat down, the bench would have been broken even without
him; the damage was already done; he is not causing any damage. In this sense it is similar to X" ¥owm.
However none of the first five is doing any more damage than the sixth. He is doing the same amount of
damage as they are. In this sense it is not similar to X"? 5w where the first digger did all the damage.
This would seemingly depend on whether we view the first five as one entity or as five separate entities. If
we view them as one entity then it is similar to X">2 ¥°%wi (the first five [as a unit] ‘broke’ the bench and
he merely sat down on a broken bench; he did not do what the five [as a unit] did). However if we consider
the five as separate individuals, then it is not comparable to X"°7 ¥°%w since none of them did any more
damage than he did. If one is liable then all are liable; it would be more similar to '5% *wm. "3702 3"y¥).
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and the other one more for a total of eleven 2°15v, then only the first is 27m.
Similarly by m%°ana 17271, if the second fire could damage on its own (as
much as the first) then they are both 2>°1. However if one could not damage
only the other, then the 2117 is only on the one who could damage.

Thinking it over

1. Mmoo proves that by 79272 727 the last one is also 217 from the case
where the first dug " and others dug an additional " (each), where they all
are 2»1. We can perhaps distinguish between these two cases. By 712 it did
not do any P17 until it was twenty (or thirty) 2150 deep. The 712 that was
P is a joint effort of all the diggers. However by 772°2172 71271 as soon as the
first one made the fire (which was capable and ready to go and damage) the
171 began already’, therefore the second one could be Mus!®

2. How can we derive from "1 '51 > 713, that by X"12 7% YW 701, the one that
was Ywd (initially) has to pay like the others. By 712 each one dug ",
therefore he is 2»1. However by 70 even after he was ywi», if the others
would have watched, the 711w would be guarded, why should he have to pay;
he left the M by responsible o mw?!’

7 The pri of the 112 does not begin, until someone falls into the 712; however by wx the P11 begins with the
lighting of a fire that is capable of damaging 1% m72 (especially according to the 7"n of 1xi D1wn WK).

¥ See 7"nX and 2021 "2 'w MR "2,

? See y"w MX 1" “n.
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